* P A u - 0 0 2 - 0 0 1 5 0 3 - 3 1 5 0 - 8 *

PAU-002-001503
B. Com. (Sem. V) (CBCS) Examination

October / November - 2018

Seat No.

Management Accounting - I
(0Old Course)

Faculty Code : 002

Subject Code : 001503

Time : 2% Hours] [Total Marks : 70
JAAL (1) ol % Ul Fdlel L.
(2)  &3s Ul dRlL 4Rl euy salaqi vda 8.
1 (sl [l dl. 31-3-2017 24 31-3-2018+1L A%~ WIS - A4l 20
(A el
aleLe1dlzil 31-3-2017 | 31-3-2018 | Drasdl 31-3-2017 |31-3-2018
(3.) (3.) (3.) (3.)
SRR 4,50,000 | 4,50,000| Raz Basdl 4,00,000 | 3,20,000
AU S 3,00,000 | 3,10,000 Asial 50,000 60,000
A5l 521l vig 56,000 68,000 | s 2,40,000 | 2,10,000
aglelRl 1,68,000 | 1,34,000| galel 2,10,000 | 4,55,000
ERERIE Y EICTE 75,000 10,000 | 6is 1,49,000 | 1,97,000
ol elr - | 2,70,000
10,49,000 | 12,42,000 10,49,000 |12,42,000
aqii-l uledl -
(1) 3. 8,000 BHdrl As120 3. 8,5004i A e+l UM
w194,
(2)  ad exRU 3. 9,000 sA: HIE2 ARl sl
(3) ad e 3. 10,000+ Bua-l 25 Rar FMasd 3. 12,0004
Ayl ddl. sl .. vild UL S 2194,
(4) ad s ysda R 3. 40,000.
GuAsd uIsdl well sidadlla ydHi 381 sulad uwas A
dl. 31-3-2018 «iL A%+ Hadl wld 24 Guadlal salad wats dulR
53U
Ydl
PAU-002-001503 ] 1 [ Contd....



1 A 2uta pivll Rl wst adui uell siddlla qAHD FrsR 20
galad Uols el ldlol YAl Uas oLl

CEICTAE e 31-3-2017 |31-3-2018 | P1asdl 31-3-2017 |31-3-2018
(3.) (3.) (3.) (3.)

Slsadl A4 4,00,000 | 5,20,000 | w&dl — 38,000
eIHd 1,00,000 | 1,10,000 | ¥l — Hsi- 2,97,000 | 2,88,500
A5l- 5l vilg 79,380 72,440 | 4ol 2,25,900 | 2,32,400
avlelRl 79,040 82,270 | el 2,22,080 | 1,94,740
edlgdlil 67,560 25,290 | 2dlelRl 1,70,350 | 1,45,250
53911 Aouas 80,000 | 1,00,000 | uzyzel [BRuel 4,630 1,470
ols - vlla31se 1,19,020 —| ols Ras 5,040 9,640
9,25,000 | 9,10,000 9,25,000 | 9,10,000

aqlidl wledl :

(1) a e3ld YsAd 59U i R RS 21454 3. 70,000
wd 3. 78,000 &dl.
(2) 2 sudldl Besdl 3. 1,20,00040 vidlecui 2l sdl. 2
Masdiii €15 3. 43,280, 4ol 3. 36,720 4 ousl wadl-l
WHAL yHA Ay O, wlle (BHd 3. 1,20,000- S5 4R
Yyl UL 2l ysaami wdl edl.
(3) ad e 3. 11,300 dolidl Wil se edl.

2 oy [ A4 wg - uAY A quiidl uRdl 1A e © 0 20
dl. 31-3-2018+1L A%+, ul§ - AQY.

gqete Ll U (3.) | Basdl i (3.)
Wil 1,50,000 Yl 1,00,000
+ 8 45,000 1,95,000 | %l 45,000
24l - 15,000 | sl 10,000
CICTRCR ] 10,000 | Hla-l €s 68,000
os dlr 25,000 | galelRl 67,000
aslelRl 56,000 | 65 [Mas 22,500
a5 - dlailse 11,500

3,12,500 3,12,500

quitl Aledl :

[aa1d 3. | A 3.
Qe (o1 % weil wr) |3,60,000 | adladl walxi 20,000
AL ReLs 50,000 | ARl vl 21,000
vt Gur widlel 2,88,000 | 65 dlre 1% 4,000
ALVRAL R2LS 68,000
PAU-002-001503 | 2 [ Contd....



GuAsd [aord uel 1A dRidA Al :

(1)
®3)
(5)
(7)
)

S1AL sl JRITR
RUs Gudl-l e

AsAl Yl uR andl 2

AAlEA dRITR
Aglelr dRlldR

A4 : addl 360 [Rau L2elal.

Qv Asiedl 2Rl

(2)

4)  waudl 3Rz

(6) zdAlelR dRITR

(8) Ay dRidR

(10) zal-S(5a2l iR

(selel et 2al Haol)

wal
2 A Sur] R Asl- sl vidl 24 sl A ulkdl 20
vl 2dl 8. 1A weuda el aelal s

(1) $1AL ALl dRITR (2) AL ALl dRITR
(3) ALY Rl (4) eal-S5a2l dridr
(5) s dRlltR (ol suousl 2al-l UHIR)
(6)  wallsdl deldr (7) 1% AL RITR
(8) AsiAdl Yi U qudr-l e
G. ASl-5ALL g %.
[aard wu (3.) | Mo wx (3.)
dUlR Hid-l U3 WS 1,00,000 | d=2el 10,00,000
s1AL Hld-l A3 RS 50,000 | 1AL Hid-dl 2R KeLs 1,50,000
sl Hiasll W€l 3,00,000 | daR HA-l uR KLs 1,00,000
ucdal Hol 2,00,000 | 9+l ARl sl 50,000
Geulest w3 1,00,000
adladl wal 50,000
el [del wal 50,000
543U 20,000
Rolrae] a1y 45,000
R R 3,85,000
13,00,000 13,00,000
ulg - AQAY,
ol wn (3.) | Pisadl wa (3.)
Ryl o Szl 1,00,000 | sta{l etsdl 2,50,000
PEREST] 1,00,000 | s1a1 W@l 2R
14l 1,00,000 | =2is 1,50,000
Rl 2,00,000 | duR Hla-l BR
AglelRl 1,00,000 | =22is 1,00,000
edl - ¢4 50,000 | 428l tdlelR) 1,00,000
os [Mas 50,000
6,50,000 6,50,000
PAU-002-001503 | 3 [ Contd....



3 [awy uy. Sudl el Gowed 81 1A wulsdl 8. 15

(o1 uay qy ofly ad
48 (3.) 20,000 28,000
et (3.) 2,00,000 2,40,000

Gu-fl (A2 uwHl 2Avddl s :

(1) sl w2l 2eidR

2 Rar wal

(3) uuqe [bg

(4)  °AR AL 3. 1,80,000 €U AR sl
(5) 3. 40,000 sl HOqdL |l %33 ALl

wYqal

3 A5 sudld @ddl Al wuRdl wa & - 15
BSHELS AARL A oottt 3. 10
QUITL QLA ettt ettt 5%
BUEHELS HLIARMIMIT . ooeeietit ettt 3. 3
BSHELS YL Lo 3. 2
Raz Al 3. 10,000
AlAA AT L. 100%

(1) % YR QAR AHGS ¥l Sl 10% 2 15% a4 $1d dl
qul] Asl sedl ?

(2) %A URUR AAIRL AHd2 w2l sl 25% 189 81U dl vl 32d] ?

(3) A MRIUR sl 3. 2,500 Ul sl Sld dl AU weal-dl Seal
251 Ay AL $G ldws &© 7

4 Y B2 1A oendd Al Bl sy Bswel $edd 8 d 15
455l S
(1) “@7AL 45 2sHL A oAl 30 BsHL
(2) M2l AL 90 AsHL
() M2l “‘oi’<l 60 VsH)
(4) UM 60 BSHL 2R oL 20 BsHL

quilfl Aledl A sunami 2udl 8

(o1 ARy - A ARy - ‘o
UE HlaHIA (BsHEls) 3. 2 3. 2.5
ute vl (AsHels) 3.1 3. 1.5
YR vl (Mol 251) 100% 100%
18| 3. 6 3. 10
Raz wa wal 3. 100
Yql
4 g5y quil ¢ 15

(1)  dauasly Aol uglidl gl
2) dAasla [Baaelas sl

(3) Awasly [l uglid Hew
PAU-002-001503 ] 4 [ Contd....



ENGLISH VERSION

Instructions : (1) Give answer of all the questions.

(2) Figures on right side show mark of each question
1 The Balance Sheets of Vishva Ltd. as on 31-3-2017 and 20

31-3-2018 are as follow :
Liabilities 31-3-2017 | 31-3-2018 | Assets 31-3-2017 | 31-3-2018
(Rs.) (Rs.) (Rs.) (Rs.)

Share Capital 4,50,000 4,50,000 | Fixed Assets 4,00,000 3,20,000
General Reserve 3,00,000 3,10,000 | Investments 50,000 60,000
Profit and Stock 2,40,000 2,10,000
Loss Alc 56,000 68,000 | Debtors 2,10,000 4,55,000
Creditors 1,68,000 1,34,000 | Bank 1,49,000 1,97,000
Provision of
taxation 75,000 10,000
Mortgage Loan -1 2,70,000

10,49,000 | 12,42,000 10,49,000 | 12,42,000

Additional Information :

(1) The Investments worth Rs. 8,000 Sold at Rs. 8,500 in during
the year.

(2) Rs. 9,000 made provision for taxation in during the year.
(3) During the year one fixed asset of the Rs. 10,000 sold at
Rs. 12,000. Profit credited to profit and loss account.

(4) Rs. 40,000 paid a dividend in during the year.

From the above information, prepare statement of changes
in working capital and statement of receipt and use of fund
as on 31-3-2018.

OR
From the following Balance Sheet of Zakhi Ltd. prepare 20
a Statement Showing Changes in Working Capital and Fund
Flow Statement :
Liabilities 31-3-2017 | 31-3-2018 | Assets 31-3-2017 (31-3-2018
(Rs.) (Rs.) (Rs.) (Rs.)
Equity Share Goodwill - 38,000
Capital 4,00,000 5,20,000 | Land—Building 2,97,000 2,88,500
Reserve 1,00,000 1,10,000 | Machinery 2,25,900 2,32,400
Profit and Loss Alc 79,380 72,440 | Stock 2,22.080 1,94,740
Creditors 79,040 82,270 | Debtors 1,70,350 1,45,250
Bills payables 67,560 25,290 | Sundry advances 4,630 1,470
Provision of taxation 80,000 1,00,000 | Bank balance 5,040 9,640
Bank overdraft 1,19,020 —
9,25,000 | 9,10,000 9,25,000 | 9,10,000
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Additional Information :

(1)

Rs. 70,000 and 78,000 respectively.

2)

During the year taxes and interim dividend paid were

The assets of another company were purchased for

Rs. 1,20,000 payable in fully paid equity shares of the
company. The assets consisted of stock Rs. 43,280, and
Machinery Rs. 36,720 and reaming amount was for

goodwill.
(3) During the year Machinery of Rs. 11,300 have been
purchased.
2 The Balance Sheet and other information of Jiyan Ltd. 20
is as follow :
The Balance Sheet as on 31-3-2018
Liabilities Amount | Assets Amount
(Rs.) (Rs.)
Capital 1,50,000 Building 1,00,000
+ Profit 45,000 1,95,000 | Land 45,000
Reserve 15,000 | Investment 10,000
Insurance Fund 10,000 [ Stock of goods 68,000
Bank Loan 25,000 | Debtors 67,000
Creditors 56,000 | Bank balance 22,500
Bank overdraft 11,500
3,12,500 3,12,500
Additional Information :
Particular Rs. | Particular Rs.
Sales (Totally Credit)| 3,60,000 | Administrative Expenses | 20,000
Opening Stock 50,000 | Selling Expenses 21,000
Credit Purchases 2,88,000 | Int. on Bank loan 4,000
Closing Stock 68,000

From the above information calculate following ratios :

(1)
3)
)
(7)
)
(10)
Note :
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Gross Profit Ratio
Stock Turnover Ratio
Return on Capital Employed (6) Debtors ratio
Operating Ratio
Creditors Ratio
Debt-Equity Ratio (According to Total outside debt)
360 Days to be taken for the year.

(0)

2)

(4) Liquid Ratio

Current Ratio

8

R

6

Net Profit Ratio
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2 The information of Profit and Loss Account and Balance 20
Sheet of S and D company Ltd. is given. Calculate following
ratios :

(1) Gross Profit Ratio

(2) Net Profit Ratio

(3) Current Ratio

(4) Debt-Equity Ratio (On the basis of long term debt)

(5) Stock Ratio

(6) Liquid Ratio

(7) Interest Coverage Ratio

(8) Return on capital employed
Dr. Profit and Loss A/c Cr.
Particular Amount | Particular Amount

(Rs.) (Rs.)

Opening stock of Sales 10,00,000

finished goods 1,00,000 | Closing stock of

Opening stock of raw materials 1,50,000

raw materials 50,000 [ Closing stock of

Raw material purchases 3,00,000 | finished goods 1,00,000

Direct labour 2,00,000 | Profit in sale

Production costs 1,00,000 | of share 50,000

Administrative expenses 50,000

Selling & Distribution

expenses 50,000

Taxation 20,000

Interest of debentures 45,000

Net profit 3,85,000

13,00,000 13,00,000
Balance Sheet
Liabilities Amount | Assets Amount
(Rs.) (Rs.)
Capital : Equity 1,00,000 | Fixed Assets 2,50,000
Preference 1,00,000 | Closing stock of

Reserves 1,00,000 | raw materials 1,50,000

Debentures 2,00,000 | Closing stock of

Creditors 1,00,000 finished goods 1,00,000

Bills - payable 50,000 | Sundry Debtors 1,00,000

Bank Balance 50,000
6,50,000 6,50,000
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The following information is related to the production 15
of Vijay Manufacturing Company Ltd.
Particulars First Year Second Year
Profit (Rs.) 20,000 28,000
Sales (Rs.) 2,00,000 2,40,000
From the above information calculate :
(1) Profit Volume Ratio
(2) Fixed Cost
(3) Break Even Point
(4) Profit where sales is Rs. 1,80,000
(5) Required Sales to earn profit of Rs. 40,000
OR

The following information is available for a one company: 15
Selling Price per Unit ...........ccoooeeeiiiiiiieeiiiiiieeeeeeiieeeees Rs.10
Trade diSCOUNT ......eeeeeiiiiiiiiiiiiiceee e 5%
Material per Unit........cccoooeiiiiiieeiiiiiiieeeeeeieee e Rs. 3
Labour per unit ..........cccooeeiiiiiiiieiiiiieeeeeeeeeeeee e, Rs. 2
Fixed eXpemnses ......cccoocoeiiviioeeiiiiiiieeeeiiieeeeeeeieeeeeen, Rs. 10,000
Variable eXpenses......cccoooooivvieeiiiiiiieeeeeiieeeeeeeee e, 100%
(1) How much gross Profit when actual sale is 10% and

15% more than the break even sale ?
(2) How much loss when actual sale is 25% less than the

break even sale?
(3) To earn profit of Rs. 2,500, how many more percentage

of sale necessary than break even sale?
Decide which one of the following sales mix of 15
Madhuri Ltd. should be optimum :
(1) 45 units of "A" and 30 units of "B"
(2) 90 units of "A" only
(3) 60 units of "B" only
(4) 60 units of "A" and 20 units of "B"
Additional information is given below :
Particular Product-A | Product-B
Direct Material (Per unit) Rs. 2 Rs. 2.5
Direct Wages (Per unit) Rs. 1 Rs. 1.5
Variable Cost (Percentage of wages) 100% 100%
Sales Rs. 6 Rs. 10
Fixed overhead expenses Rs. 100

OR

Write short notes : 15

(1) Objectives of Management Accounting
(2) Functions of Management Accountant
(3) Importance of Management Accounting
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